Agenda Item #:

3-(-1

PALM BEACH COUNTY **BOARD OF COUNTY COMMISSIONERS** AGENDA ITEM SUMMARY

Meeting Date: August 17	2010 {X} Consent { } Workshop	<pre>====================================</pre>
Department:		{ } Public Hearing
Submitted By: E	ngineering & Public Works ngineering Services Division	

I. EXECUTIVE BRIEF

Motion and Title: Staff recommends motion to approve: The second Amendment to the Annual Pathway and Minor Construction Contract (Contract), R2008-1824, with Charles S. Whiteside, Inc. (Whiteside), Project No. 2009053, dated October 21, 2008, and extended to October 21, 2010, R2009-1842.

SUMMARY: Approval of this second Amendment to the Contract will extend the expiration date, from October 21, 2010 to October 20, 2011, increase the amount of the Contract by \$6,971,000, to a total of \$15,514,000, lower the unit prices on certain bid items and introduce the Inspector General Ordinance requirements and gender equity language into the Contract. The increased Contract amount is based upon estimated amounts to be expended throughout Palm Beach County (County) by various departments during the extended contract period. Whiteside has voluntarily reduced the unit prices of numerous existing bid items (2.9% overall) that may be used in future task authorizations. The Contract provides for construction and/or resurfacing of pathways, construction of parking areas, speed humps, traffic separators and other minor construction projects throughout the County on an as needed basis. Whiteside is a County business. The Contract will be re-bid after this extension. Small Business Enterprise (SBE) goals were established at 15% of the overall Contract amount. The SBE participation committed for the project by Whiteside is 21.6% overall. Whiteside has attained SBE participation of 21.8% overall through the third quarter.

Countywide (MRE)

Background and Justification: The original Contract was approved on October 21, 2008 and extended with the first Amendment thru October 21, 2010. This Amendment will extend the expiration date, from October 21, 2010 to October 20, 2011 and increase the amount of the Contract by \$6,971,000, to a total of \$15,514,000, while holding or lowering unit prices as originally bid. Whiteside has attained SBE participation of 21.8% overall through the third quarter.

Attachments:

- 1. Second Amendment to the Contract w/Exhibit A (2)
- 2. Extension letter from Contractor
- 3. Original Bid Tabulation

	==========
Recommended by: Mark A.L. for Division Director	<u>08/02/2010</u> Date

Approved By: County Engineer

II. FISCAL IMPACT ANALYSIS

A. Five Year Summary of Fiscal Impact:

Fiscal Years	2010	2011	2012	2013	2014
Capital Expenditures	\$6,971,000	-0-	-0-	-0-	-0-
Operating Costs	-0-	-0-	-0-	-0-	-0-
External Revenues	-0-	-0-	-0-	-0-	-0-
Program Income (County)	0-	-0-	-0-	-0-	-0-
In-Kind Match (County)	-0-	-0-	-0-	-0-	-0-
NET FISCAL IMPACT	\$6,971,000	-0-		-0-	-0-
# ADDITIONAL FTE POSITIONS (Cumulative)					
Is Item Included in Current	Budget?	Yes		No <u>.</u>	
Budget Acct No - Fund	Dont				

Budget Acct No.: Fund____ Dept.___ Unit___ Object Program

B. Recommended Sources of Funds/Summary of Fiscal Impact:

Allocations are a not to exceed amount and can be expended from various accounting lines for various projects where budget is available.

	FY 2009	Prior FY 2010	
	Allocations	Expenditures Allocations	Total.
Streetscape	\$ 60,000	\$ 0	\$ 60,000
Parks and Recreation	\$2,570,000	<\$2,107,650>\$ 1,920,000	
Water Utilities	\$1,660,000	<\$1,464,475>\$ 2,636,000	\$2,831,525
Engineering		<\$3,538,420>\$ 2,065,000	
Airports	\$ 150,000	<\$ 4,475>\$ 0	\$ 145,525
Environmental Resources Mgmt.	\$ 180,000	<\$ 176,414>\$ 350,000	\$ 353,586
Cooperative Extension Service	<u>\$ 3,000</u>		\$ 3,000
	\$8,543,000	<\$7,291,434>\$6,971,000	
Potential Fiscal Impact			\$8,222,566

C. Departmental Fiscal Review: _____

III. REVIEW COMMENTS

A. OFMB Fiscal and/or Contract Dev. and Control Comments:

OFMB

Contract Dev. and Control

B. Approved as to Form and Legal Sufficiency:

Assistant County Attorney

C. Other Department Review:

Department Director

This summary is not to be used as a basis for payment.

2 F:\COMMON\WP\AGENDAPAGE2\AGNPGTWO2010\ANNUALAGREEMENT.DOC

SECOND AMENDMENT TO THE ANNUAL PATHWAY AND MINOR CONSTRUCTION CONTRACT NO. 2009053 DATED OCTOBER 21, 2008 BY AND BETWEEN CHARLES S. WHITESIDE, INC., AND PALM BEACH COUNTY

۴

THIS SECOND AMENDMENT to the Annual Pathway and Minor Construction Contract dated October 21, 2008, (R2008-1824), hereinafter "CONTRACT" by and between Charles S. Whiteside, Inc., hereinafter "CONTRACTOR" and the BOARD OF COUNTY COMMISSIONERS OF PALM BEACH COUNTY, a political subdivision of the State of Florida, hereinafter, "COUNTY".

WITNESSETH

WHEREAS, on October 21, 2008, the CONTRACTOR and COUNTY entered into an Annual Pathway and Minor Construction Contract for construction of pathways and various minor construction projects and other related tasks throughout Palm Beach County; and

WHEREAS, on November 3, 2009 (R2009-1842) the CONTRACTOR and COUNTY mutually agreed to an extension of the CONTRACT through October 21, 2010; and

WHEREAS, Section 33 of the CONTRACT provides that the CONTRACT may be extended, at the COUNTY'S option for a defined period of time, not to exceed thirty-six months total contract time, upon approval of the Board of County Commissioners; and

WHEREAS, by this amendment, the CONTRACTOR and the COUNTY mutually agree to extend the CONTRACT from October 21, 2010 to October 20, 2011, with all original terms, conditions and unit prices adhered to, except as stated below; and

WHEREAS, the COUNTY wishes to increase the Contract amount from \$8,543,000 to \$15,514,000, for a total increase of \$6,971,000.

NOW, THEREFORE, in consideration of the mutual covenants, promises, and agreements herein contained, the parties agree as follows:

1. The above recitations are true and correct and incorporated herein. The CONTRACT, dated October 21, 2008, between the CONTRACTOR and the COUNTY is hereby amended as follows:

a. to extend the expiration date of the CONTRACT, from October 21, 2010 to October 20, 2011.

b. to revise the unit prices on specific bid items to reflect a lower cost to the County as shown on the attached Exhibit A.

c. to increase the Contract amount by \$6,971,000, to a total of \$15,514,000.

d. The CONTRACT, page C-1 dated October 21, 2008, between the CONTRACTOR and the COUNTY is hereby amended as follows:

1

WITNESSETH: The Contractor agrees with the County, for the consideration herein mentioned at his, its or their own proper cost and

expense to do all the work and furnish all necessary labor, materials, equipment, machinery, tools, apparatus, services, state workmen's compensation and unemployment compensation taxes incurred in the performance of the contract, for the:

ANNUAL PATHWAY AND MINOR CONSTRUCTION CONTRACT,

PALM BEACH COUNTY PROJECT NO. 2009053

IN THE AMOUNTS specified in task orders which may be issued by the County under Section No. 23 and the other terms of the Contract Documents. The County is not required to issue any task orders hereunder. The maximum value of orders issued under the existing Contract, together with this Amendment and previous change orders, shall not, in any case, exceed FIFTEEN MILLION FIVE HUNDRED FOURTEEN THOUSAND DOLLARS (\$15,514,000) (except as may be increased according to Section 37 of the Contract Specifications).

The Contract Documents relative hereto are made a part of this agreement as completely as if set forth herein to the satisfaction of the COUNTY or its duly authorized representative.

e. Section 9. LEGAL REQUIREMENTS, Sub-section B, is amended as follows:

Specifically, the Contractor warrants and represents that all of its employees are treated equally during employment without regard to race, color, religion, disability, sex, age, national origin, ancestry, marital status, sexual orientation, and gender identity and expression. The following paragraph is added to Section 11 of the Contract:

Without changing the contract price, a fee of 0.25% will be deducted by the Owner from the amount of each application for payment to defray costs of the Office of the Inspector General (IG) in accordance with Ordinance R2009-049.

g. The following Section 39. <u>INSPECTOR GENERAL ORDINANCE</u> is added as the last Section in the Contract Specifications:

f.

Palm Beach County has established the Office of the Inspector General, Ordinance R2009-049 which is authorized and empowered to review past, present and proposed County contracts, transactions, accounts and records. All contractors and parties doing business with the County and receiving County funds shall fully cooperate with the Inspector General including receiving access to records relating to Bid or any resulting contract. The Inspector General has the power to subpoena witnesses, administer oaths, require the production of

2

records, and audit, investigate, monitor, and inspect the activities of the contractor, its officers, agents, employees, and lobbyists in order to ensure compliance with contract specifications and detect corruption and fraud. The cost of the Office of Inspector General shall be incorporated into the contract price of all contracts and shall be 0.25% of the contract price.

2. The Contract Documents relative hereto are made a part of this agreement as completely as if set forth herein to the satisfaction of the COUNTY or its' duly authorized representative.

2

3. It is the intent of the parties hereto that this Agreement shall not become binding until the date executed by the COUNTY.

4. All other provisions of the Annual Pathway and Minor Construction Contract dated October 21, 2008, shall remain in full force and effect.

SPACE LEFT BLANK INTENTIONALLY

IN WITNESS WHEREOF, the parties have caused this Amendment to be executed

and

sealed this _____ day of _____, 2010.

• -

.

ATTEST:

SHARON R. BOCK **Clerk and Comptroller**

PALM BEACH COUNTY, a Political Subdivision of the State of Florida **Board of County Commissioners**

By:

Deputy Clerk

APPROVED AS TO FORM AND LEGAL SUFFICIENCY

COUNTY ATTORNEY

By:_ Burt Aaronson, Chair

APPROVED AS TO TERMS AND CONDITIONS

ENGINEERING

ATTEST:

Secretary or Asst. Secretary

(Seal)

CHARLES S. WHITESIDE, INC. Contractor

By: (Signature & Title)

John M Everett President

(Print Name & Title)

4

	이 이 아들을 물건을 물건을 만들어 들었다. 물건		4					
	1 CLEARING & GRUBBING	10() AC	. Ş	100.00	\$	10,000.00	
	2 STUMP REMOVAL	100) EA	\$		\$	12,500.00	
	3 TREE REMOVAL	200) EA	\$		\$	17,250.00	
	4 TREE RELOCATION	100) EA	\$		\$	5,000.00	
	5 MAIL BOXES (RESET)	900) EA	\$		\$	1,800.00	
	6 REMOVE ASPHALT (FULL DEPTH)	8,000	SY	\$		\$	16,000.00	
	7 REMOVE ASPHALT (1/12 OR LESS)	4,000	SY	\$		\$	16,000.00	
	8 EXCAVATION	2,000	CY			\$	18,000.00	
	9 EMBANKMANT	5,000	CY	\$		\$	45,000.00	
	10 12" TYPE C STABILIZATION	5,000	SY	\$	1.75	\$	8,750.00	
	1 4" BASE (INCL PRIME COAT)	48,000	SY	\$	11.50	\$	552,000.00	
10 - N	2 6" BASE (INCL PRIME COAT)	3,000	SY	\$	12.00	\$	36,000.00	
	.3 8" BASE (INCL PRIME COAT)	3,300	SY	\$	12.50	\$	41,250.00	
	4 12" BASE (INCL PRIME COAT)	3,300	SY	\$	13.00	\$	42,900.00	
	5 FINISH EXISTING ROCK BASE	7,800	SY	\$	3.00	\$	23,400.00	
	6 ACSC TYPE S-1 (1-1/4")	35,000	SY	\$	6.00	Ş	210,000.00	
	7 ACSC TYPE 5-1 (2")	35,000	SY	\$	9.00	\$	315,000.00	
	8 ACSC TYPE S (LESS 20 TN)	500	TN	\$	200.00	\$	100,000.00	
2 a - age -	9 ACSC TYPE S (20-50 TN)	1,500	TN	\$	150.00	Ś	225,000.00	
2	(9,4, 200 114)	2,000	TN	\$	146.35	Ś	292,700.00	
2	(100 100 111)	1,800	TN	\$	144.25	Ś	259,650.00	
2		47,000	SY	\$	9.10	Ś	427,700.00	
2		475	SY	\$	30.00	\$	14,250.00	
24	이 그 집에 가지 않는 것이 같은 것이 있는 것이 없는 것이 없을까? 이 것이 있는 것이 없는 것이 없 않는 것이 없는 것이 없 않는 것이 없는 것이 않는 것이 없는 것이 않는 것 않는 것	530	SY	\$	40.00	\$	21,200.00	
2!		18,000	SY	\$	41.00	\$	738,000.00	
20		1,900	SY	\$	58.00	\$	110,200.00	
27		900	SF	\$	5.00	\$	4,500.00	
28		900	SF	\$	25.00	\$	22,500.00	
29		9,000	SY	\$	13.00	\$	117,000.00	
30		1,400	SY	\$	20.00	\$	28,000.00	
31 32	(LESS (1144 JU 114)	1,750	TN	\$	115.00	\$	201,250.00	c.'
33		1,750	TN	\$	115.00	\$	201,250.00	
34	- The Concerten ZOU THE	1,750	TN	\$	115.00	\$	201,250.00	
35		460	SY	\$	65.00	\$	29,900.00	
36	A OCCUMUNION NEIMOVE	1,330	SY	\$	10.00	\$	13,300.00	
37		17,500	LF	\$	14.00	\$	245,000.00	
38	THE	1,745	LF	\$	2.00	\$	3,490.00	
39	C	480	LF	\$	13.00	\$	6,240.00	
40	CONC CURB, GUT TYP E-REMOVAL CONC CURB & GUTTER TYPE "F"	525	LF	\$	4.00	\$	2,100.00	
41	CONC CURB, GUT TYP F-REMOVAL	7,800	LF	\$	15.00	\$	117,000.00	
42	CONC GRAVITY WALL	4,500	LF	\$	2.00	\$	9,000.00	
43	CONC DRIVEWAY CURB	400	CY	\$	235.00	\$	94,000.00	
44	CONC DRIVE CURB REMOVAL	650	LF	\$	15.00	\$	9,750.00	
45	STEEL RET FRAME & GRATE (INST)	460	LF	\$	5.00	\$	2,300.00	
46	4" PVC PIPE (SCH 40)	45	EA	\$	1,000.00	\$	45,000.00	
47	6" PVC PIPE (SCH 40)	165	LF	\$	15.00	\$	2,475.00	
		165	LF	\$	18.00	\$	2,970.00	

Exhibit "A"

Page 1 of 4

5	5 GUARDRAIL			¥.	55.00		9,350.00
5		4(et al T		50.00		2,000.00
5	그는 사이는 전문을 가 있는 것을 위해 가지 않는 것을 하는 것이다.	10			1,275.00	4	12,750.00
5		10			1,950.00	Ş	19,500.00
5	그는 것 이 것 집중 집에 걸려서 가지 않는 것 같아. 우리가 있는 것 같아.	10		. .	1,900.00	Ş	19,000.00
60	그는 그는 물질 것 이 가지를 가지 못하면 것을 알고 있는 것이 없다.	20			750.00	\$	15,000.00
6		1,300		\$	5.00	\$	6,500.00
62		1,300		\$	5.00	\$	6,500.00
63	- THE D	1,300		\$	30.00	\$	39,000.00
64	그는 것 같은 것 같은 것 같은 것 것 같은 것 같이 많은 것 같이 많을 것 같이 없다.	16,000		\$	3.25	\$	52,000.00
65		3,900	and a second	\$	0.75	\$	2,925.00
66		225	EA	\$	225.00	\$	50,625.00
67		85	EA	\$	30.00	\$	2,550.00
68	CDANNUAL CONTRACTOR	100	SF	\$	20.00	\$	2,000.00
69	그는 것이 같은 것이 같은 것이 같은 것이 같은 것이 같은 것이 같이 많이	100	SF	\$	15.00	\$	1,500.00
70		100	LF	\$	7.35	\$	735.00
71	- WIDE	1,650	LF	\$	7.50	\$	12,375.00
72		85	SY	\$	80.00	\$	6,800.00
73		85	SY	\$	75.00	\$	6,375.00
74	RESET PAVER BRICK	85	SY	\$	20.00	\$	1,700.00
75	TOP SOIL (6")	85	SY	\$	35.00	\$	2,975.00
76	SANDBLASTING - 1/2 DAY	320	SY	\$	7.00	\$	2,240.00
77	SANDBLASTING - FULL DAY	20	EA	\$	450.00	\$	9,000.00
	SANUDERSTING - FULL DAY	10	EA	\$	900.00	\$	9,000.00
		TOTAL BA	SE BID	•		\$	5,256,125.00
78	EMERG RESPONSE (LESS 6 HRS)	4	EA	\$	1,500.00	\$	6 000 00
79	EMERG RESPONSE (6-24 HRS)	8	EA	\$	750.00	\$	6,000.00
80	EMERG RESPONSE (24-72 HRS)	12	EA	\$	750.00	\$	6,000.00
81	VEGETATION RELOCATION	10	HR	\$	175.00	\$	9,000.00
82	4" CONC PATH (LESS THAN 10 SY)	100	SY	\$	150.00	\$	1,750.00
83	4" CONC PATH (10-50 SY)	100	SY	\$	135.00	\$	15,000.00
84	6" CONC PATH (LESS THAN 8 SY)	100	SY	\$	175.00		13,500.00
85	6" CONC PATH (8-35 SY)	100	SY	\$	140.00	\$	17,500.00
86	PUMP/HAND PLACE - 1/2 DAY	5	EA	\$	500.00	\$	14,000.00
87	PUMP/HAND PLACE - 1 DAY	5	EA	\$	750.00	\$	2,500.00
88	PUMP MIX FOR CONC	10	CY	\$	50.00	\$	3,750.00
89	CONC TRAF SEPARATOR TYPE I	100	SY	\$		\$	500.00
90	CONC TRAF SEPARATOR TYPE II	100	SY	\$	80.00	\$	8,000.00
91	CONC TRAF SEPARATOR TYPE III	100	SY	۶ \$	80.00	\$	8,000.00
		100	.	>	80.00	\$	8,000.00
							Fv

170

170

170

170

170

170

170

LF.

LF

LF

LF

LF

LF

LF

\$

\$

\$

\$

\$

\$

\$

25.00

45.00

50.00

55.00

45.00

50.00

55.00

\$

\$

\$

\$

\$

\$

\$

4,250.00

7,650.00

8,500.00

9,350.00

7,650.00

8,500.00

9,350.00

48

49

50

51

52

53

54

55

10" PVC PIPE (SCH 40)

15" RCP

18" RCP

24" RCP

15" BCCMP

18" BCCMP

24" BCCMP

GUARDRAIL

Exhibit "A"

Page 2 of 4

전 같이 다니는 것은 것은 것을 가지 않는다. 방법이 가지 않는다.						
92 CONC TRAF SEPARATOR TYPE V		no r	•••			
93 PBC CURB & GUTTER (9")		M	5Y	\$ 80.0		8,000.00
94 CONC CURB, GUT (9") REMOVAL	남자에 가지 않는		F	\$ 35.0	0\$	1,750.00
95 PBC FLUSH HEADER CURB		50 L		\$ 5.00	an tha an 🔨	
96 HEADER CURB REMOVAL	1(\$ 35.00) \$	
97 CONC VALLEY GUTTER REMOVAL	20	- 18 T		\$ 10.00) \$	2,000.00
98 PBC CONC MOUNTABLE GUTTER	10			\$ 5.00) \$	
99 MOUNTABLE GUTTER REMOVAL	10			\$ 35.00	\$	3,500.00
100 CURB INLET TYPE 1	10			\$ 5.00	\$	500.00
101 CURB INLET TYPE 2		2 E/		\$ 6,000.00	\$	12,000.00
102 CURB INLET TYPE 3		2 EA	1.1	\$ 6,000.00	\$	12,000.00
103 CURB INLET TYPE 4		2 EA	1.1	\$ 6,000.00	\$	12,000.00
104 CURB INLET TYPE 5		2 EA		\$ 6,000.00	\$	12,000.00
105 CURB INLET TYPE 6		2 EA		\$ 5,000.00	\$	10,000.00
106 CURB INLET TYPE 7		2 EA	Ş	\$ 5,000.00	\$	10,000.00
107 CURB INLET TYPE 8	2		Ş	6,000.00	\$	12,000.00
108 ADJUST EXIST MANHOLE/INLET	2	EA	\$	6,000.00	\$	12,000.00
109 MOD INLET & INSTALL RET.	10		\$	2,000.00	\$	20,000.00
110 CATCH BASIN TYPE C	10	EA	\$	2,100.00	\$	21,000.00
111 CURB INLET TYPE 1	6	EA	\$	3,500.00	\$	21,000.00
112 CURB INLET TYPE 2	2	EA	\$	7,500.00	\$	15,000.00
113 CURB INLET TYPE 3	2	EA	\$	7,500.00	\$	15,000.00
114 CURB INLET TYPE 4	2	EA	\$	4,500.00	\$	9,000.00
115 CURB INLET TYPE 5	2	EA	\$	4,500.00	\$	9,000.00
116 CURB INLET TYPE 6	2	EA	\$	4,500.00	\$	9,000.00
117 CURB INLET TYPE 7	2	ËA	\$	4,500.00	\$	9,000.00
118 CURB INLET TYPE 8	2	EA	\$	7,500.00	\$	15,000.00
119 MANHOLE TYPE P	2	EA	\$	7,500.00	\$	15,000.00
120 30" RCP	5	EA	\$	5,800.00	\$	29,000.00
121 36" RCP	80	LF	\$	90.00	\$	7,200.00
122 42" RCP	80	LF	\$	110.00	\$	8,800.00
123 48" RCP	40	LF	\$	125.00	\$	5,000.00
124 15" CONC MITERED END SECTION	40		\$	150.00	\$	6,000.00
125 18" CONC MITERED END SECTION	2	EA	\$	2,000.00	\$	4,000.00
126 24" CONC MITERED END SECTION	2	EA	\$	2,300.00	\$	4,600.00
- CONCENTIONEND SECTION	2	EA	\$	2,500.00	\$	5,000.00
CONCINITENED END SECTION	2	EA	\$	3,200.00	\$	6,400.00
	2	EA	\$	4,500.00	\$	9,000.00
- CONCINITENED END SECTION	2	EA	\$	5,000.00	\$	10,000.00
130 48" CONC MITERED END SECTION 131 30" BCCMP	2	EA	\$	5,500.00	\$	11,000.00
132 36" BCCMP	80	LF	\$	90.00	\$	7,200.00
133 42" BCCMP	80	LF	\$	110.00	\$	8,800.00
134 48" BCCMP	40	LF	\$	125.00	Ś	5,000.00
135 15" BCCMP MEC	40	しんしょう たたいた	\$	150.00	Ş	6,000.00
136 18" BCCMP MEC	2	EA	\$	1,850.00	\$	3,700.00
137 24" BCCMP MEC	2	EA	\$	2,200.00	\$	4,400.00
138 30" BCCMP MEC	2	EA	\$	2,500.00	\$	5,000.00
	2	EA	\$	3,000.00	Ş	6,000.00
	4				~	0,000.00

140 42 BCCMP MEC 2 EA \$ 4,100.00 \$ 8,200.00 141 48" BCCMP MEC 2 EA \$ 5,500.00 \$ 10,000.00 142 SAND CEMENT ENDWALL 2 EA \$ 5,500.00 \$ 11,000.00 143 MISC CONC 200 CY \$ 525.00 \$ 52,500.00 \$ 137,500.00 144 FRENCH DRAIN (15" CMP) 80 LF \$ 100.00 \$ 8,800.00 145 FRENCH DRAIN (18" CMP) 80 LF \$ 100.00 \$ 8,800.00 146 FRENCH DRAIN (18" CMP) 80 LF \$ 100.00 \$ 8,800.00 147 FRENCH DRAIN (18" CMP) 80 LF \$ 110.00 \$ 8,800.00 149 FRENCH DRAIN (18"CP) 80 LF \$ 110.00 \$ 8,800.00 150 POLYDRAIN 5 EA \$ 2,000.00 \$ 15,000.00 151 YARD DRAIN 5 EA \$ 2,000.00 \$ 15,000.00 152 SPECIAL GUARDRAIL (2 RAIL) 10 EA \$ 975.00	139 36" BCCMP MEC						
141 48" BCCMP MEC 2 EA \$ 5,000.00 \$ 10,000.00 142 SAND CEMENT ENDWALL 100 CY \$ 525.00 \$ 52,500.00 143 MISC CONC 250 CY \$ 550.00 \$ 11,000.00 144 FRENCH DRAIN (15" CMP) 80 LF \$ 100.00 \$ 8,000.00 145 FRENCH DRAIN (24" CMP) 80 LF \$ 110.00 \$ 8,000.00 146 FRENCH DRAIN (24" CMP) 80 LF \$ 100.00 \$ 8,000.00 147 FRENCH DRAIN (24" RCP) 80 LF \$ 100.00 \$ 8,000.00 149 FRENCH DRAIN (24" RCP) 80 LF \$ 10.000 \$ 8,000.00 150 POLYDRAIN 50 LF \$ 300.00 \$ 15,000.00 153 ALUM PIPE HANDRAIL (27) 125 LF \$ 30.00 \$ 3,750.00			2 E	A :	\$ 4,100.00	Ś	8 200 00
142 SAND CEMENT ENDWALL 2 EA S 5,500.00 S 11,000.00 143 MISC CONC 250 CY S 525.00 S 52,500.00 144 FRENCH DRAIN (15" CMP) 80 LF S 100.00 S 8,000.00 145 FRENCH DRAIN (18" CMP) 80 LF S 110.00 S 8,000.00 146 FRENCH DRAIN (18" CMP) 80 LF S 110.00 S 8,000.00 147 FRENCH DRAIN (15" RCP) 80 LF S 110.00 S 8,000.00 148 FRENCH DRAIN (18"RCP) 80 LF S 110.00 S 8,000.00 150 POLYDRAIN 50 LF S 300.00 S 15,000.00 152 SPECIAL GUARDRAIL POST 10 EA \$ 2,000.00 \$ 10,000.00 153 ALUM PIPE HAIDRAIL (3 RAIL) 150 LF \$ 30.00 \$ 3,750	- Decial MEC		2 E,	A :	\$ 5,000.00		
143 MISC CONC 100 CY \$< \$ \$ \$ \$< \$< \$< \$< \$< \$< \$< \$< \$< \$< \$< 143FRENCH DRAIN (15			2 E/	A S		1.1	
144 FRENCH DRAIN (15" CMP) 250 CY \$ 550.00 \$ 137,500.00 144 FRENCH DRAIN (18" CMP) 80 LF \$ 100.00 \$ 8,000.00 144 FRENCH DRAIN (18" CMP) 80 LF \$ 110.00 \$ 8,000.00 144 FRENCH DRAIN (18" CMP) 80 LF \$ 110.00 \$ 8,000.00 144 FRENCH DRAIN (18" RCP) 80 LF \$ 100.00 \$ 8,000.00 148 FRENCH DRAIN (18" RCP) 80 LF \$ 100.00 \$ 8,000.00 149 FRENCH DRAIN (18" RCP) 80 LF \$ 10.00 \$ 8,000.00 150 POLYDRAIN 50 LF \$ 300.00 \$ 15,000.00 151 YARD DRAIN 50 LF \$ 30.00 \$ 3,750.00 153 ALUM PIPE HANDRAIL (3 RAIL) 150 LF \$ 30.00 \$ 3,750.	CLINENT CINDWALL	10	0 C	Y S			
145 FRENCH DRAIN (15° CMP) 80 LF \$ 10000 \$ 800.00 1445 FRENCH DRAIN (14° CMP) 80 LF \$ 110.00 \$ 8,800.00 1447 FRENCH DRAIN (15° CMP) 80 LF \$ 120.00 \$ 9,600.00 1447 FRENCH DRAIN (15° RCP) 80 LF \$ 120.00 \$ 9,600.00 1449 FRENCH DRAIN (18° RCP) 80 LF \$ 120.00 \$ 9,600.00 150 POLYDRAIN 50 LF \$ 100.00 \$ 8,800.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 152 SPECIAL GUARDRAIL POST 10 EA \$ 975.00 \$ 9,750.00 153 ALUM PIPE HANDRAIL (3 RAIL) 150 LF \$ 60.00 \$ 9,000.00 155 RELOCATE FIRE HYDRAYT 1 EA \$ 6,000.00 \$ 6,000.		25	0 C1	Y \$			
146 FRENCH DRAIN (18" CMP) 80 LF \$ 110.00 \$ 8,800.00 144 FRENCH DRAIN (15" RCP) 80 LF \$ 120.00 \$ 9,600.00 144 FRENCH DRAIN (15" RCP) 80 LF \$ 100.00 \$ 8,800.00 144 FRENCH DRAIN (15" RCP) 80 LF \$ 100.00 \$ 8,800.00 144 FRENCH DRAIN (15" RCP) 80 LF \$ 100.00 \$ 8,800.00 145 SATON 5 EA \$ 2,000.00 \$ 15,000.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 152 SPECIAL GUARDRAIL POST 10 EA \$ 975.00 \$ 9,750.00 153 ALUM PIPE HANDRAIL (1 RAIL) 150 LF \$ 30.00 \$ 3,750.00 155 RELOCATE FIRE HYDRAYT 1 EA \$ 6,000.00 \$ 6,000.00<	145 ERENCH DRAIN (15" CMP)	8	D LF	: \$			
147 FRENCH DRAIN (12" CMP) 80 LF \$ 120.00 \$ 9,600.00 148 FRENCH DRAIN (15" RCP) 80 LF \$ 100.00 \$ 8,000.00 149 FRENCH DRAIN (12" RCP) 80 LF \$ 110.00 \$ 8,000.00 150 POLYDRAIN 80 LF \$ 110.00 \$ 8,800.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 152 SPECIAL GUARDRAIL POST 10 EA \$ 975.00 \$ 9,750.00 153 ALUM PIPE HANDRAIL (3 RAIL) 150 LF \$ 30.00 \$ 3,750.00 154 SAFTY PIPE RAIL (2") 125 LF \$ 30.00 \$ 3,750.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 750.00 \$ 1,500.00 156 PULL BOXES (BROOKS) 2 EA \$ 750.00 \$ 1,500.00	LINCH DIVINI [10 LMP]	8() LF	\$	110.00		
148 FRENCH DRAIN (13 "RCP) 80 LF \$ 100.00 \$ 8,000.00 149 FRENCH DRAIN (24" RCP) 80 LF \$ 110.00 \$ 8,800.00 150 POLYDRAIN 50 LF \$ 300.00 \$ 9,600.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 152 SPECIAL GUARDRAIL POST 10 EA \$ 2,000.00 \$ 10,000.00 153 ALUM PIPE HANDRAIL (3 RAIL) 150 LF \$ 60.00 \$ 9,750.00 154 SAFTY PIPE RAIL (2") 125 LF \$ 30.00 \$ 3,750.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 6,000.00 \$ 6,000.00 155 RELOCATE FIRE WALL 100 LF \$ 65.00 \$ 5,00.00 156 PULL BOXES (BROOKS) 2 EA \$ 750.00 \$ 1,500.00 157 CONCRETE BARIER WALL 100 LF \$ 20.00 \$ 4,000.00 158 JACK AND BORE IRRIGATION LINES 200 LF \$ 20.00 </td <td>LIVIP)</td> <td>8(</td> <td>) LF</td> <td>\$</td> <td></td> <td></td> <td></td>	LIVIP)	8() LF	\$			
149 FRENCH DRAIN (24" RCP) 80 LF \$ 110.00 \$ 8,800.00 150 POLYDRAIN 80 LF \$ 120.00 \$ 9,600.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 152 SPECIAL GUARDRAIL POST 10 EA \$ 975.00 \$ 9,750.00 153 ALUM PIPE HANDRAIL (3 RAIL) 150 LF \$ 60.00 \$ 9,000.00 154 SAFTY PIPE RAIL (2") 125 LF \$ 30.00 \$ 3,750.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 6,000.00 \$ 6,000.00 155 RELOCATE FIRE WALL 100 LF \$ 65.00 \$ 6,500.00 157 CONCRETE BARIER WALL 100 LF \$ 20.00 \$ 4,000.00 158 JACK AND BORE IRRIGATION LINES 200 LF \$ 70.00	LING TOMAIN (13 MCP)	8() LF	\$	100.00		
150 POLYDRAIN 80 LF \$ 120.00 \$ 9,600.00 151 YARD DRAIN 50 LF \$ 300.00 \$ 15,000.00 152 SPECIAL GUARDRAIL POST 5 EA \$ 2,000.00 \$ 10,000.00 153 ALUM PIPE HANDRAIL (3 RAIL) 150 LF \$ 60.00 \$ 9,750.00 154 SAFTY PIPE RAIL (2") 125 LF \$ 30.00 \$ 3,750.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 6,000.00 \$ 6,000.00 156 PULL BOXES (BROOKS) 2 EA \$ 750.00 \$ 1,500.00 157 CONCRETE BARIER WALL 100 LF \$ 65.00 \$ 6,500.00 159 INSTALL IRRIGATION LINES 200 LF \$ 20.00 \$ 4,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 3,750.00	TO ALP	80) LF	\$	110.00		
151YARD DRAIN50LF\$ 300.00 \$ $15,000.00$ 152SPECIAL GUARDRAIL POST10EA\$ $2,000.00$ \$ $10,000.00$ 153ALUM PIPE HANDRAIL (3 RAIL)10EA\$ 975.00 \$ $9,750.00$ 154SAFTY PIPE RAIL (2")125LF\$ 60.00 \$ $9,000.00$ 155RELOCATE FIRE HYDRANT1EA\$ $6,000.00$ \$ $6,000.00$ 156PULL BOXES (BROOKS)2EA\$ 750.00 \$ $1,500.00$ 157CONCRETE BARIER WALL100LF\$ 65.00 \$ $6,000.00$ 158JACK AND BORE IRRIGATION100LF\$ 70.00 \$ $7,000.00$ 159INSTALL IRRIGATION LINES200LF\$ 20.00 \$ $4,000.00$ 160IRRIGATION HOOKUP5EA\$ 750.00 \$ $3,750.00$ 161REPLACE IRRIGATION SYSTEM $1,500$ LF\$ 20.00 \$ $30,000.00$ 162RUBBLE RIP-RAP50TN\$ 295.00 \$ $14,750.00$ 163TEMP OR PERM SHEET PILING $1,000$ SF\$ 45.00 \$ $30,000.00$ 164SO YELLOW PINE LUMBER $1,000$ BF\$ 10.00 \$ $10,000.00$ 16540 TN CRANE - DAY10EA\$ $2,200.00$ \$ $10,000.00$ 1663 CY LOADER - DAY10EA\$ $1,500.00$ <	Encir Dimin (24 RCP)	80	LF	\$	120.00		
152SPECIAL GUARDRAIL POST5EA\$ $2,000.00$ \$ $10,000.00$ 153ALUM PIPE HANDRAIL (3 RAIL)10EA\$ 975.00 \$ $9,750.00$ 154SAFTY PIPE RAIL (2")125LF\$ 60.00 \$ $9,000.00$ 155RELOCATE FIRE HYDRANT1EA\$ $6,000.00$ \$ $6,000.00$ 156PULL BOXES (BROOKS)2EA\$ 750.00 \$ $1,500.00$ 157CONCRETE BARIER WALL100LF\$ 65.00 \$ $6,000.00$ 158JACK AND BORE IRRIGATION100LF\$ 70.00 \$ $7,000.00$ 159INSTALL IRRIGATION LINES200LF\$ 20.00 \$ $4,000.00$ 160IRRIGATION HOOKUP5EA\$ 750.00 \$ $3,750.00$ 161REPLACE IRRIGATION SYSTEM $1,500$ LF\$ 20.00 \$ $30,000.00$ 162RUBBLE RIP-RAP50TN\$ 295.00 \$ $14,750.00$ 163TEMP OR PERM SHEET PILING $1,000$ SF\$ 45.000 \$ $10,000.00$ 164SO YELLOW PINE LUMBER $1,000$ BF\$ 10.000 \$ $10,000.00$ 16540 TN CRANE - DAY10EA\$ $2,200.00$ \$ $22,000.00$ 1663 CY LOADER - DAY10EA\$ $1,500.00$ \$ $10,000.00$ 167 $1-1/2$ CY BACKHOE - DAY10EA\$ <td></td> <td>50</td> <td>LF</td> <td>\$</td> <td>300.00</td> <td></td> <td></td>		50	LF	\$	300.00		
153 ALUM PIPE HANDRAIL (3 RAIL) 10 EA \$ 975.00 \$ 9,750.00 154 SAFTY PIPE RAIL (2") 125 LF \$ 60.00 \$ 9,000.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 6,000.00 \$ 6,000.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 6,000.00 \$ 6,000.00 156 PULL BOXES (BROOKS) 2 EA \$ 750.00 \$ 1,500.00 157 CONCRETE BARIER WALL 100 LF \$ 65.00 \$ 6,000.00 158 JACK AND BORE IRRIGATION 100 LF \$ 70.00 \$ 7,000.00 159 INSTALL IRRIGATION LINES 200 LF \$ 20.00 \$ 4,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 3,750.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 45,000.00 164 SO YELLOW PINE LUMBER 1,000		5	EA	\$	2,000.00		
154 SAFTY PIPE RAIL (2") 150 LF \$ 60.00 \$ 9,000.00 155 RELOCATE FIRE HYDRANT 1 EA \$ 6,000.00 \$ 3,750.00 156 PULL BOXES (BROOKS) 2 EA \$ 750.00 \$ 6,000.00 157 CONCRETE BARIER WALL 100 LF \$ 65.00 \$ 6,500.00 158 JACK AND BORE IRRIGATION 100 LF \$ 70.00 \$ 7,000.00 159 INSTALL IRRIGATION LINES 200 LF \$ 20.00 \$ 4,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 3,750.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 45,000.00 164 SO YELLOW PINE LUMBER 1,000 BF \$ 10.000 \$ </td <td></td> <td>10</td> <td>EA</td> <td>\$</td> <td>975.00</td> <td></td> <td></td>		10	EA	\$	975.00		
155 RELOCATE FIRE HYDRANT 125 LF \$ 30.00 \$ 3,750.00 156 PULL BOXES (BROOKS) 2 EA \$ 6,000.00 \$ 6,000.00 157 CONCRETE BARIER WALL 100 LF \$ 65.00 \$ 1,500.00 158 JACK AND BORE IRRIGATION 100 LF \$ 65.00 \$ 6,500.00 159 INSTALL IRRIGATION LINES 200 LF \$ 70.00 \$ 7,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 3,750.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.000 \$ 10,000.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 22,000.00 164 SO YELLOW PINE LUMBER 1,000 BF \$ 10.00 \$ 10,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 165 40 TN CRANE - DAY 10	THANDRAIL (S KAIL)		LF	\$	60.00		
156 PULL BOXES (BROOKS) 1 EA \$ 6,000.00 \$ 6,000.00 157 CONCRETE BARIER WALL 100 LF \$ 65.00 \$ 1,500.00 158 JACK AND BORE IRRIGATION 100 LF \$ 65.00 \$ 6,500.00 159 INSTALL IRRIGATION LINES 200 LF \$ 70.00 \$ 7,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 3,750.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 45,000.00 164 SO YELLOW PINE LUMBER 1,000 BF \$ 10.00 \$ 10,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$		un Alfred Color	LF	\$	30.00		
157 CONCRETE BARIER WALL 100 LF \$ 750.00 \$ 1,500.00 158 JACK AND BORE IRRIGATION 100 LF \$ 65.00 \$ 6,500.00 159 INSTALL IRRIGATION LINES 200 LF \$ 70.00 \$ 7,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 3,750.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.000 \$ 45,000.00 164 SO YELLOW PINE LUMBER 1,000 BF \$ 10.00 \$ 10,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$ 1,000.00 \$ 10,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$	156 PULL BOXES (BROOKS)		EA	\$	6,000.00		
158 JACK AND BORE IRRIGATION 100 LF \$ 65.00 \$ 6,500.00 159 INSTALL IRRIGATION LINES 200 LF \$ 7,000.00 \$ 7,000.00 160 IRRIGATION HOOKUP 5 EA \$ 750.00 \$ 4,000.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 3,750.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45,000.00 164 50 YELLOW PINE LUMBER 1,000 SF \$ 45,000.00 166 164 SO YELLOW PINE LUMBER 1,000 BF \$ 10.00 \$ 10,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$ 1,500.00 \$ 10,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,500.00 <t< td=""><td>157 CONCRETE BARIER WALL</td><td></td><td></td><td>\$</td><td>750.00</td><td></td><td></td></t<>	157 CONCRETE BARIER WALL			\$	750.00		
159 INSTALL IRRIGATION LINES 200 LF \$ 70.00 \$ 7,000.00 160 IRRIGATION HOOKUP 5 EA \$ 20.00 \$ 4,000.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45,000.00 \$ 45,000.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45,000.00 \$ 14,750.00 164 SO YELLOW PINE LUMBER 1,000 SF \$ 45,000.00 \$ 10,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 \$ 166 3 CY LOADER - DAY 10 EA \$ 1,000.00 \$ 10,000.00 \$ 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,500.00 \$ 15,000.00 \$ 16,000.00 \$ 10	158 JACK AND BORE IRRIGATION	and the state of the		18 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 - 1 -	65.00	\$	
160 IRRIGATION HOOKUP 5 EA 5 20.00 \$ 4,000.00 161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 3,750.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 30,000.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 45,000.00 164 SO YELLOW PINE LUMBER 1,000 SF \$ 45.00 \$ 45,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$ 2,200.00 \$ 22,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY <td>159 INSTALL IRRIGATION LINES</td> <td></td> <td></td> <td> </td> <td>70.00</td> <td>\$</td> <td></td>	159 INSTALL IRRIGATION LINES			 	70.00	\$	
161 REPLACE IRRIGATION SYSTEM 1,500 LF \$ 20.00 \$ 30,000.00 162 RUBBLE RIP-RAP 50 TN \$ 295.00 \$ 14,750.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 45,000.00 164 SO YELLOW PINE LUMBER 1,000 SF \$ 45.00 \$ 45,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 10,000.00 166 3 CY LOADER - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$ 1,000.00 \$ 10,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 30.00 \$ 81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 35.00 \$ 94,500.00 172 SEALER CONC	160 IRRIGATION HOOKUP				20.00	\$	
162 RUBBLE RIP-RAP 50 L1 3 20.00 \$ 30,000.00 163 TEMP OR PERM SHEET PILING 1,000 SF \$ 45.00 \$ 14,750.00 164 SO YELLOW PINE LUMBER 1,000 SF \$ 45.00 \$ 45,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$ 2,200.00 \$ 22,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 30.00 \$ 81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 30.00 \$ 81,000.00 172 SEALER CONC 2700 SY </td <td></td> <td></td> <td></td> <td></td> <td>750.00</td> <td>\$</td> <td></td>					750.00	\$	
163 TEMP OR PERM SHEET PILING 1,000 SF \$ 295.00 \$ 14,750.00 164 SO YELLOW PINE LUMBER 1,000 SF \$ 45.00 \$ 45,000.00 165 40 TN CRANE - DAY 10 EA \$ 2,200.00 \$ 22,000.00 166 3 CY LOADER - DAY 10 EA \$ 2,200.00 \$ 22,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 30.00 \$ 81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 35.00 \$ 94,500.00 172 SEALER CONC 2700 SY \$ 35.00 \$ 94,500.00	162 RUBBLE RIP-RAP			날 말 하지 않는 것	20.00	\$	
164 SO YELLOW PINE LUMBER 1,000 SI 3 45.00 \$ 45,000.00 165 40 TN CRANE - DAY 10 BF \$ 10.00 \$ 10,000.00 166 3 CY LOADER - DAY 10 EA \$ 2,200.00 \$ 22,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 30.00 \$ 81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 30.00 \$ 81,000.00 172 SEALER CONC 2700 SY \$ 30.00 \$ 94,500.00					295.00	\$	
165 40 TN CRANE - DAY 10 BF \$ 10.00 \$ 10,000.00 166 3 CY LOADER - DAY 10 EA \$ 2,200.00 \$ 22,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 30.00 \$ 81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 35.00 \$ 94,500.00 172 SEALER CONC 2700 SY \$ 35.00 \$ 94,500.00	164 SO YELLOW PINE LUMBER				45.00	\$	
166 3 CY LOADER - DAY 10 EA \$2,200.00 \$22,000.00 167 1-1/2 CY BACKHOE - DAY 10 EA \$1,000.00 \$10,000.00 168 IMPRINT NEW INSTALLATION 1,500 \$15,000.00 \$15,000.00 169 HEAT & IMPRINT EXIST PVT 1,200 \$Y \$47.00 \$70,500.00 170 COLOR COATING - STAND FORM 2,700 \$Y \$30.00 \$81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 \$Y \$35.00 \$94,500.00 172 SEALER CONC 2700 \$Y \$35.00 \$94,500.00	165 40 TN CRANE - DAY			1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	n Shara a subject	\$	
167 1-1/2 CY BACKHOE - DAY 10 EA \$ 1,000.00 \$ 10,000.00 168 IMPRINT NEW INSTALLATION 1,500 SY \$ 47.00 \$ 70,500.00 169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 40.00 \$ 48,000.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 30.00 \$ 81,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 35.00 \$ 94,500.00 172 SEALER CONC 2 700 SY \$ 00.00 \$ 00.00					· 같은 것 같은	\$	
168 IMPRINT NEW INSTALLATION 1,500 \$ 1,500.00 \$ 15,000.00 169 HEAT & IMPRINT EXIST PVT 1,500 \$ 47.00 \$ 70,500.00 170 COLOR COATING - STAND FORM 2,700 \$Y \$ 40.00 \$ 48,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 \$Y \$ 35.00 \$ 81,000.00 172 SEALER CONC 2 700 \$Y \$ 0.00 \$ 94,500.00					에는 물건을 위해 주셨는 것이 없다.	\$	
169 HEAT & IMPRINT EXIST PVT 1,200 SY \$ 47.00 \$ 70,500.00 170 COLOR COATING - STAND FORM 2,700 SY \$ 40.00 \$ 48,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 30.00 \$ 81,000.00 172 SEALER CONC 2,700 SY \$ 35.00 \$ 94,500.00	168 IMPRINT NEW INSTALLATION			\$	1,500.00	\$	15,000.00
170 COLOR COATING - STAND FORM 2,700 SY \$ 40.00 \$ 48,000.00 171 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 30.00 \$ 81,000.00 172 SEALER CONC 2,700 SY \$ 35.00 \$ 94,500.00	169 HEAT & IMPRINT EXIST PVT					\$	70,500.00
1/1 COLOR COATING - TRAFFIC FORM 2,700 SY \$ 35.00 \$ 81,000.00 172 SEALER CONC 2,700 SY \$ 35.00 \$ 94,500.00	170 COLOR COATING - STAND FORM	a film and the second			4. 人名 しょう したり 御知	\$	48,000.00
1/2 SEALER CONC 2 700 CV C 35.00 \$ 94,500.00	1/1 COLOR COATING - TRAFFIC FORM					e de la companya de l	
	172 SEALER CONC			1. 1. 1. N. 1.			94,500.00
		4,/U U	51	\$	20.00	\$	

TOTAL CONTINGENCY ITEMS:

\$ 1,378,600.00

TOTAL BID AMOUNT

\$6,634,725.00

CHARLES S WHITESIDE

PAGE 02

A	CORD. CERTIFIC	ATE OF LIABIL	ITY INSU	RANCE	OP ID S9 CHARL13	DATE (MM/DD/////)				
5900 P.O.	n & Brown of Florida, N. Andrews Ave. #300 Box 5727		ONLY AND (HOLDER. TH	THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER. THIS CERTIFICATE DOES NOT AMEND, EXTEND OR ALTER THE COVERAGE AFFORDED BY THE POLICIES BELOW.						
ON	Lauderdale FL 33310-57 e:954-776-2222 Fax:95		INSURERS AF	FORDING COVE	RAGE	NAIC #				
NŞURED)		INSURER A:	merisure M	utual Ins. Co.	23396				
	Charles S. Whitesi	de Tho	INSURER B:	···						
	Attn: John Everett 250 Truck & Traile	•	INSURER C:	· · · · · · · · · · · · · · · · · · ·	- · · · · · · · · · · · · · · · · · · ·					
	West Palm Beach FL	33413	INSURER D;		······································					
COVE	RAGES	_	insurer is.		· · · · · · · · · · · · · · · · · · ·					
MAY P POLIC	OLICIES OF INSURANCE LISTED BELOW HAV EDUREMENT, TERM OR CONDITION OF ANY TERTAIN. THE INSURANCE AFFORDED BY THI IES. AGGREGATE LIMITS SHOWN MAY HAVE	CONTRACT OR OTHER DOCUMENT V		THIS CENTIFICATE M						
TR INS	RD TYPE OF INSURANCE	POLICY NUMBER	POLICY EFFECTIVE	DATE (MM/DD/YY)	LiM	TS				
A X	GENERAL LIABILITY X COMMERCIAL GENERAL LIABILITY	GL2056905010009	09/15/09	09/15/10	EACH OCCURRENCE DAMAGE TO RENTED PREMISES (Ea occurance)	\$1,000,000				
	CLAIMS MADE X OCCUR				MED EXP (Any one person)	\$10,000				
	X Contr Liability				PERSONAL & ADV INUURY	\$1,000,000				
						\$ 2,000,000				
	GENL AGOREGATE LIMIT APPLIES PER: POLICY X JECT LOC				PRODUCTS - COMP/OP AGG	\$2,000,000				
4 A	AUTOMOBILE LIABILITY X ANY AUTO	CA2056906010009	09/15/09	09/15/10	COMBINED SINGLE LIMIT (En accident)	\$1,000,000				
	ALL DWNED AUTOS SCHEDULED AUTOS				BODILY INJURY (Per person)	\$				
	X HIRED AUTOS X NON-OWNED AUTOS				BODILY INJURY (Por accidenti)	3				
• 					PROPERTY DAMAGE (Per acodent)	\$				
	GARAGE LIABILITY		*		AUTO ONLY - EA ACCIDENT	S				
	ANY AUTO				OTHER THAN EA ACC AUTO ONLY: AGO					
A	EXCESSAUMBRELLA LIABILITY X OCCUR CLAIMS MADE	CU205690701	09/ 15/09	09/15/10	EACH OCCURRENCE	\$1,000,000 \$1,000,000				
Į	DEDUCTIBLE				Serversensen of the server of the server of the serverse of th	\$				
	X RETENTION \$ 0		;		a na anna ann an Anna an Anna ann an A	5				
EN	ORKERS COMPENSATION AND APLOYERS' LIABILITY IY PROPRIETOR/PARTNER/EXECUTIVE				E L. EACH ACCIDENT					
- 06	FICER/MEMBER EXCLUDED? 193. describe under TECIAL PROVISIONS below		į		EL DISEASE EA EMPLOYE	 ;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;;				
	ECIAL PROVISIONS below				E.L. DISEASE - FOLICY LIMIT	1				
rol	TION OF OPERATIONS / LOCATIONS / VEHICle Ct#2009053 - Annual P	Pathway & Minor Con	struction Cor	tract	• •					
GTH	Beach County Board of State of Florida, its	County Commisions	re a politic	in I ambaland	sion of					
- uuu	LIGHAI INSUIED AS TEST	ects General Lishi	lity nor form	CC7040 05	04					
ERTH	ired by written contra FICATE HOLDER	action of the second se	e for non-pay	ment of pr	emium.					
Cr(I			CANCELLATI							
	Palm Beach County & Public Work Depa Engineering Servic 2300 North Jog Roa West Palm Beach FL	rtment es Division d: 3rd Floor	DATE THEREOF, NOTICE TO THE	SHOULD ANY OF THE ABOVE DESCRIBED POLICIES RE CANCIFILED BEFORE THE EXPIRAT DATE THEREOF, THE ISSUING INSURER WILL ENDEAVOR TO MAIL <u>*30</u> DAYS WRITTEN NOTICE TO THE CERTIFICATE HOLDER NAMED TO THE LEFT, BUT FAILURE TO DO SO SHAI INPOSE NO OBLIGATION OR LIABILITY OF ANY KIND UPON THE INSURER, ITS AGENTS OF:						
	Tura beach FL		AUTHORIZED THE	RESENTATIVE		an a				
COR	0 25 (2001/08)		I		7					

ACORD 25 (2001/08)

SACORD CORPORATION 1968

IMPORTANT

If the certificate holder is an ADDITIONAL INSURED, the policy(ies) must be endorsed. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

DISCLAIMER

The Certificate of Insurance on the reverse side of this form does not constitute a contract between the issuing insurer(s), authorized representative or producer, and the certificate holder, nor does it affirmatively or negatively amend, extend or alter the coverage afforded by the policies listed thereon.

ACORD 25 (2001/08)

A	CORD CERTIFIC	ATE OF LIAE		and a second		DATE (NMDD////) 12/29/2009			
111 1054 Nest	en FRYO Insurance Services Sc Vista Parbny, Suita 400 Fals Boach FL 33411-2718 0 655-5500	nitheast.	THIS CERTIFICATE IS ISSUED AS A MATTER OF INFORMATION ONLY AND CONFERS NO RIGHTS UPON THE CERTIFICATE HOLDER THIS CERTIFICATE DOES NOT AMEND, EXTEND OR ALTER THE GOVERAGE AFFORDED BY THE POLICIES BELOW.						
			INSURERS	AFFORDING COV	ERAGE	NAIC #			
sure: Ina.c.)	D 148 S. Whiteside, Inc.			COI Insurance (Congeby	10178			
			NOURER B:						
	Truck & Trailor Way Pala Bouch 71, 33413-1605		NSURER D						
	RAGED		NBURER E:		The second states of the second				
THE ANY MAY POL	POLICIES OF INSURANCE LISTED SEL REQUIREMENT, TERM OR CONDITION PERTAIN, THE INSURANCE APPORDED ICES, AGGREGATE LIMITS SHOWN MA	OF ANY CONTRACT OR OT	HER DOCUMENT W						
R AC		POLICY NUMBER	POLICY EFFECTIVE	PERCENTEN	LINT	1			
					LACH OCCURRENCE				
					DAMAGE TO REATED PREASE (Es ecovence)	3			
			l		NED EXP (Any one person) PERBONAL & ADV INJURY	1			
					GENERAL AGGREGATE	8			
	CENT ACCRECATE LINIT APPLIES PER POLICY STOT LOC				PRODUCTS - COMPLOP AGG	3			
					COMBINED SINGLE UMIT (Ea actident)	\$			
	ALL OWNED AUTOS				BODILY INJURY (Per person)	•			
	NCK-OWNED AUTOS				BODILY INJURY (Per sosideni)	\$			
+-	GARAGE LIAMETRY				PROPERTY DAMAGE (Per accident)	8			
	ANY ALTO			}	AUTO ONLY - EA ACCIDENT	\$			
+					OTHER THAN AUTO CALY AGO	3 1			
					EACH OCCURRENCE	8			
	DEDUCTIONE			· · · ·		3			
	RETENTION 6				· · •• · · ••••				
	NEW CONFERNATION AND	001WC08233183	1/1/2010	1/1/2011	TORY LIMITE				
A	NY PROPRIETOR/PARTNER/DUECUTIVE		1/1/2010	1/1/2011	ELL EACH ACCIDENT	\$ 1,000,0			
	yes, deutsitie under PECIAL PROVISIONE beten				EL DIBEASE - EA EMPLOYEE				
d	TANER	· · · · · · · · · · · · · · · · · · ·			EL DISEASS - POLICY UNIT	\$ 1,000.00			
PCPU	FIEN OF DEBANGNE / LOCATIONE / VENCE 10 days notice for eacel Description: Renuel Paths Commissioners, a polition stw samed av additional i	lation for nongegment my 6 Minor Constructi 1 addivision of the	of premium app. on Contract. A State of Florida	Liss. Frojet 42 Lis Baach Count	Y ADELL OF CONATH (
	al/35/5 4/38 subsequent t	o written contract or	rtial general I: Sgrucment.	ability policy	per CICL onderseen	16 (1)			
-RJ	IFICATE HOLDER		CANCELLA	TION					
		SHOULS ANY	IF THE ABOVE DESCREE	ED POLICIES BE CANCELLED S	PORE THE DIPIRATIC				
	Reach County Reginvering 6 1	ublic Works Dept	DATE THEREO	F, THE BBUING INDUR	er will endeavor to mail .	30 DAYS WRITT			
300	N. Jog Road, 3md Floor				NAMED TO THE LEFT, BUT FA				
st	Jula Beach 27, 33411-2745		NETODE NO COLLIGATION OR WARRATY OF ANY KIND UPON THE INDURER, IT'S AGENTS OR INSTRUMENTATIVES. AUTHORIZED REPRESENTATIVE						
	D 25 (2001/04)		1	0	Austini				

Page 1 of 1

METRIS LUGGE INS' SACS LAX: 2010885308 Dec 20 5000 0:45 6:01

12/29/2009

IMPORTANT

If the certificate holder is an ADDITIONAL INSURED, the policy(ias) must be endorsed. A statement on this certificate does not confer rights to the certificate holder in liau of such endorsement(s).

If SUBROGATION IS WAIVED, subject to the terms and conditions of the policy, certain policies may require an endorsement. A statement on this certificate does not confer rights to the certificate holder in lieu of such endorsement(s).

DISCLAIMER

The Certificate of insurance on the reverse side of this form does not constitute a contract between the issuing insurer(s), authorized representative or producer, and the certificate holder, nor does it affirmatively or regatively emend, extend or after the coverage afforded by the policies listed thereon.

ACORD 25 (2001/08)

Page 2 of 2

Dec 20 2000 8:47 P.02

METTS LUKED INS' SACS LSX: 2010885208



CHARLES S. WHITESIDE, INC.

Grading, Storm Drainage & Paving

250 TRUCK & TRAILER WAY -:- WEST PALM BEACH, FLORIDA 33413-1605

-:- Telephone (561) 471-7696 - (561) 471-7699 - Fax (561) 471-9351 -:-

May 11, 2010

Mark A. Sinkhorn, P.E., Sr. Prof. Engineer Department of Engineering and Public Works Palm Beach County, Florida P. O. Box 21229 West Palm Beach, Florida 33416-1229

Re: Annual Pathway and Minor Construction Contract Palm Beach County Project No: 2009053 Contract Extension

Dear Mark,

As we discussed during our telephone conversation of May 5, 2010, Charles S. Whiteside, Inc. would appreciate the opportunity to renew the maintenance contract for Annual Pathway and Minor Construction Contract, Project Number 2009053 for Palm Beach County.

As you are aware, prior to renewal of the current contract (the first allowed renewal of the original contract) our firm negotiated with suppliers and subcontractors which resulted in a reduction from the original contract in amount of \$270,377.50. Recently, we again met with and renegotiated costs from our suppliers and subcontractors to assure the greatest cost savings to Palm Beach County. This effort to reduce costs has been difficult due to the unknowns of rising fuel and asphalt costs. However, all parties have agreed to this reduction in

Therefore, please be advised that the voluntary current reduction in the contract amount, if renewal is granted is \$197,550.00, totaling \$467,927.50 for this contract.

We look forward to your response to this request to renew this annual contract. If you require additional information or if I can be of furthur assistance, please, do not hesitate to contact me at 561 471-7696.

Star 27

Attachmont

Sincerely,

John M. Everett; President

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008

CONTRACT DAYS: 364 CALENDAR DAYS

				CHARLES S. WHITESIDE, INC.		FLORIDA BL	ACKTOP, INC.	HOMESTEAD CONCRETE & DRAINAGE, INC.			
	TTEM CONTRACTOR OF A CONTRACTOR	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT			AVERAGE	
	ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED				AROUNI	UNITPRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	
1	CLEARING & GRUBBING	100	AC	\$125.00	\$12,500.00	\$750.00	\$75,000.00	411 E26 00	¢1 153 600 00		
2	STUMP REMOVAL	100	EA	\$150.00	\$15,000.00	\$200.00	\$20,000.00			\$4,137.00	
3	TREE REMOVAL	200	EA	\$100.00	\$20,000.00	\$150.00	\$30,000.00	\$336.00	\$33,600.00	\$228.67	
4	TREE RELOCATION	100	EA	\$75.00	\$7,500.00	\$150.00		\$280.00	\$56,000.00	\$176.67	
5	MAIL BOXES (RESET)	900	EA	\$5.00	\$4,500.00	\$150.00	\$15,000.00 \$13,500.00	\$112.00	\$11,200.00	\$112.33	
6		8,000	SY	\$2.00	\$16,000.00	\$3.00	\$24,000.00	\$84.00	\$75,600.00	\$34.67	
7	REMOVE EXISTING ASPHALT, 11/2" OR LESS (MILLING) (SEE			45.00	¥±0/000.00	\$ 5.00	724,000.00	\$3.36	\$26,880.00	\$2.79	
	NOTES)	4,000	SY	\$4.00	\$16,000.00	\$4.00	\$16,000.00	+2 7C			
8		2,000	CY	\$9.50	\$19,000.00	\$9.00	\$16,000.00	\$3.36	\$13,440.00	\$3.79	
9		5,000	CY	\$9.50	\$47,500.00	\$9.00	\$45,000.00	\$8.20	\$16,400.00	\$8.57	
) 12" TYPE C STABILIZATION	5,000	SY	\$2.00	\$10,000.00	\$3.00	\$15,000.00	\$11.20	\$56,000.00	\$9.90	
11	4" BASE (INCL. PRIME COAT)	48,000	SY	\$12.00	\$576,000.00	\$8.00	\$384,000.00	\$13.16	\$65,800.00	\$6.05	
12	6" BASE (INCL. PRIME COAT)	3,000	SY	\$12.50	\$37,500.00	\$3.00 \$12.00	\$36,000.00	\$10.14	\$486,720.00	\$10.05	
13	8" BASE (INCL. PRIME COAT)	3,300	SY	\$13.00	\$42,900.00	\$15.00	\$49,500.00	\$10.53	\$31,590.00	\$11.68	
14	12" BASE (INCL. PRIME COAT)	3,300	SY	\$13.50	\$44,550.00	\$16.50	\$54,450.00	\$12.66 \$15.12	\$41,778.00	\$13.55	
15	FINISH EXISTING ROCK BASE (INCL. PRIME COAT)	7,800	SY	\$3.00	\$23,400.00	\$3.00	\$23,400.00	\$15.12	\$49,896.00	\$15.04	
16	ACSC TYPE S-1 (1 1/4")	35,000	SY	\$6.00	\$210,000.00	\$8.75	\$306,250.00		\$35,802.00	\$3.53	
	ACSC TYPE S-1 (2")	35,000	SY	\$9.00	\$315,000.00	\$14.00	\$490,000.00	\$9.18	\$321,300.00	\$7.98	
18	ACSC TYPE S (<20 TONS ORDERS)	500	TN	\$200.00	\$100,000.00	\$200.00	\$100,000.00	\$14.28 \$224.00	\$499,800.00	\$12.43	
19	ACSC TYPE S (20-50 TON ORDERS)	1,500	TN	\$150.00	\$225,000.00	\$150.00	\$225,000.00	\$224.00	\$112,000.00	\$208.00	
20	ACSC TYPE S (51-100 TON ORDERS)	2,000	TN	\$150.00	\$300,000.00	\$130.00	\$260,000.00		\$336,000.00	\$174.67	
21	ACSC TYPE S (>100 TON ORDERS)	1,800	TN	\$150.00	\$270,000.00	\$130.00	\$234,000.00	\$218.40 \$218.40	\$436,800.00	\$166.13	
22	ACSC TYPE S-III (1 1/4") (INCL. TACK COAT)	47,000	SY	\$9.50	\$446,500.00	\$8.75	\$411,250.00	\$218.40 \$12.15	\$393,120.00	\$166.13	
23	ASPHALT DRIVEWAY (1 1/2") (INCL. 6" BASE)	475	SY	\$30.00	\$14,250.00	\$20.00	\$9,500.00	\$39.20	\$571,050.00	\$10.13	
	SPEED HUMPS	530	SY	\$40.00	\$21,200.00	\$50.00	\$26,500.00		\$18,620.00	\$29.73	
25	4" CONCRETE PATHWAY - 50 SY OR GREATER	18,000	SY	\$41.00	\$738,000.00	\$38.00	\$684,000.00	\$308.00	\$163,240.00	\$132.67	
26	6" CONCRETE PATHWAY (OR DRIVEWAY) - 35 SY OR GREATER	1,900	SY	\$60.00	\$114,000.00	\$50.00	\$95,000.00	\$25.80	\$464,400.00	\$34.93	
- 27	CAST CONCRETE TRUNCATED DOMES	900	SF	\$10.00	\$9,000.00	\$30.00	\$27,000.00	\$25.80 \$39.20	\$49,020.00	\$45.27	
28	CAST-IN-PLACE AND/OR SURFACE APPLIED TACTILE SURFACE	900	SF	\$25.00	\$22,500.00	\$35.00	\$31,500.00		\$35,280.00	\$26.40	
29	4" CONCRETE REMOVAL	9,000	SY	\$13.00	\$117,000.00	\$14.00	\$126,000.00	\$39.20	\$35,280.00	\$33.07	
30	6" CONCRETE REMOVAL	1,400	SY	\$20.00	\$28,000.00	\$20.00	\$28,000.00	\$1.01	\$9,090.00	\$9.34	
		•		-	+==,===	φ20.00	<i>420,000.00</i>	\$1.01	\$1,414.00	\$13.67	

*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053 BID OPENING DATE: JULY 29, 2008

CONTRACT DAYS: 364 CALENDAR DAYS

				CHARLES S. W	HITESIDE, INC.	FLORIDA BL	ACKTOP, INC.		HOMESTEAD CONCRETE & DRAINAGE, INC.	
3	ITEM ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED 1 MISC. ASPHALT (<50 TON ORDERS) (INCL. TACK COAT) (SEE	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
	NOTES) 2 MISC. ASPHALT (51-200 TON ORDERS) (INCL. TACK COAT)	1,750	TN	\$115.00	\$201,250.00	\$125.00	\$218,750.00	\$224.00	\$392,000.00	\$154.67
3.	(SEE NOTES) 3 MISC. ASPHALT (>200 TON ORDERS) (INCL. TACK COAT) (SEE	1,750	TN	\$115.00	\$201,250.00	\$125.00	\$218,750.00	\$218.00	\$381,500.00	\$152.67
	NOTES)	1,750	TN	\$115.00	\$201,250.00	\$125.00	\$218,750.00	\$218.00	\$381,500.00	¢152.67
34	4 CONCRETE TRAFFIC SEPARATOR TYPE IV	460	SY	\$70.00	\$32,200.00	\$70.00	\$32,200.00	\$33.77	\$15,534.20	\$152.67 \$57.92
3:	5 CONCRETE TRAFFIC SEPARATOR REMOVAL	1,330	SY	\$10.00	\$13,300.00	\$20.00	\$26,600.00	\$10.08	\$13,406.40	\$13.36
ି ଏ ଅ	5 CONCRETE CURB TYPE "D" (SEE NOTES)	17,500	LF	\$15.00	\$262,500.00	\$13.00	\$227,500.00	\$9.86	\$172,550.00	the second se
31	CONCRETE CURB TYPE "D" REMOVAL	1,745	LF	\$2.00	\$3,490.00	\$4.00	\$6,980.00	\$5.60	\$9,772.00	\$12.62
35	CONCRETE CURB & GUTTER TYPE "E"	480	LF	\$13.00	\$6,240.00	\$15.00	\$7,200.00	\$12.41	\$5,956.80	\$3.87
35	CONCRETE CURB & GUTTER TYPE "E" REMOVAL	525	LF	\$4.00	\$2,100.00	\$4.00	\$2,100.00	\$5.32	\$2,793.00	\$13.47 \$4.44
	CONCRETE CURB & GUTTER TYPE "F"	7,800	LF	\$15.00	\$117,000.00	\$15.00	\$117,000.00	\$12.41	\$96,798.00	\$14.14
41	CONCRETE CURB & GUTTER TYPE "F" REMOVAL	4,500	LF	\$2.00	\$9,000.00	\$4.50	\$20,250.00	\$5.32	\$23,940.00	\$3.94
	CONCRETE GRAVITY WALL	400	CY	\$235.00	\$94,000.00	\$300.00	\$120,000.00	\$392.00	\$156,800.00	\$309.00
43	CONCRETE DRIVEWAY CURB (PBC STANDARD)	650	LF	\$15.00	\$9,750.00	\$15.00	\$9,750.00	\$12.04	\$7,826.00	
44	CONCRETE DRIVEWAY CURB REMOVAL	460	LF	\$5.00	\$2,300.00	\$4.00	\$1,840.00	\$5.32	\$2,447.20	\$14.01
45	STEEL RETICULINE FRAME & GRATE (INSTALLED)	45	EA	\$1,000.00	\$45,000.00	\$1,000.00	\$45,000.00	\$1,680.00	\$75,600.00	\$4.77
	4" PVC PIPE (SCHEDULE 40)	165	LF	\$18.00	\$2,970.00	\$18.00	\$2,970.00	\$6.83	\$1,126.95	\$1,226.67
4/	6" PVC PIPE (SCHEDULE 40)	165	LF	\$20.00	\$3,300.00	\$22.00	\$3,630.00	\$10.07	\$1,661.55	\$14.28
	10" PVC PIPE (SCHEDULE 40)	170	LF	\$30.00	\$5,100.00	\$25.00	\$4,250.00	\$17.36	\$2,951.20	\$17.36
	15" RCP	170	LF	\$50.00	\$8,500.00	\$45.00	\$7,650.00	\$34.72	\$5,902.40	\$24.12
	18" RCP	170	LF	\$55.00	\$9,350.00	\$50.00	\$8,500.00	\$40.32	\$6,854.40	\$43.24
	24" RCP	170	LF	\$60.00	\$10,200.00	\$60.00	\$10,200.00	\$48.16		\$48.44
	15" BCCMP	170	LF	\$50.00	\$8,500.00	\$45.00	\$7,650.00	\$34.72	\$8,187.20	\$56.05
	18" BCCMP	170	LF	\$55.00	\$9,350.00	\$50.00	\$8,500.00	\$40.32	\$5,902.40	\$43.24
	24" BCCMP	170	LF	\$60.00	\$10,200.00	\$60.00	\$10,200.00		\$6,854.40	\$48.44
	GUARDRAIL	40	LF	\$50.00	\$2,000.00	\$55.00	\$2,200.00	\$48.16	\$8,187.20	\$56.05
56	GUARDRAIL END ANCHORAGE ASSEMBLY TYPE MELT					400.00	<i>42/200.00</i>	\$25.76	\$1,030.40	\$43.59
1	(COMPLETE)	10	EA	\$1,500.00	\$15,000.00	\$2,500.00	\$25,000.00	\$7 A64 00	¢74 640 00	
57	GUARDRAIL END ANCHORAGE ASSEMBLY TYPE ET 2000	10	EA	\$2,100.00	\$21,000.00	\$2,500.00	\$25,000.00	\$2,464.00 \$2,576.00	\$24,640.00 \$25,760.00	\$2,154.67 \$2,392.00

*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E. BIDS RECORDED BY: JAYNE CANALE, TECHNICAL AIDE

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008

CONTRACT DAYS: 364 CALENDAR DAYS

CONTRACT DATS: 364 CALENDAR DAYS			CHARLES S. WHITESIDE, INC.		FLORIDA BLACKTOP, INC.		HOMESTEAD CONCRETE & DRAINAGE, INC.		
	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE UNIT PRICE
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED								APICONI	UNIT PRICE
58 GUARDRAIL END ANCHORAGE ASSEMBLY TYPE SRT-350	10	EA	\$2,000.00	\$20,000.00	\$2,000.00	\$20,000.00	\$2,447.20	\$24,472.00	\$2,149.07
59 GUARDRAIL END ANCHORAGE ASSEMBLY TYPE II	20	EA	\$900.00	\$18,000.00	\$950.00	\$19,000.00	\$1,120.00	\$22,400.00	\$990.00
60 GUARDRAIL REMOVAL AND DISPOSAL	1,300	LF	\$5.00	\$6,500.00	\$5.00	\$6,500.00	\$4.20	\$5,460.00	\$990.00 \$4.73
61 RESET GUARDRAIL	1,300	LF	\$5.00	\$6,500.00	\$15.00	\$19,500.00	\$14.81	\$19,253.00	\$11.60
62 6' CHAIN LINK FENCE TYPE B	1,300	LF	\$30.00	\$39,000.00	\$20.00	\$26,000.00	\$24.64	\$32,032.00	\$24.88
63 SODDING (TO MATCH EXISTING) (SEE NOTES)	16,000	SY	\$3.50	\$56,000.00	\$2.00	\$32,000.00		\$80,640.00	\$3.51
64 SEEDING AND MULCHING	3,900	SY	\$0.75	\$2,925.00	\$1.00	\$3,900.00	\$0.62	\$2,418.00	\$3.51 \$0.79
65 ADJUST VALVE BOX	225	EA	\$250.00	\$56,250.00	\$250.00	\$56,250.00	\$392.00	\$88,200.00	
66 REMOVE & RE-INSTALL WHEEL STOPS	85	EA	\$30.00	\$2,550.00	\$20.00	\$1,700.00	\$72.80	\$6,188.00	\$297.33
67 THERMOPLASTIC PAVEMENT MARKING (ALL WIDTHS &							Ψ/2.00	\$U/100.00	\$40.93
COLORS) (SEE NOTES)	100	SF	\$20.00	\$2,000.00	\$15.00	\$1,500.00	\$4.48	\$448.00	A1346
68 TRAFFIC PAINT (ALL WIDTHS & COLORS) (SEE NOTES)	100	SF	\$15.00	\$1,500.00	\$12.00	\$1,200.00	\$2.24	\$224.00	\$13.16
69 BIO-BARRIER (12" WIDE) (FURNISHED AND INSTALLED)	100	LF	\$8.00	\$800.00	\$11.00	\$1,100.00	\$9.52	\$952.00	\$9.75
70 BIO-BARRIER (19.5" WIDE) (FURNISHED AND INSTALLED)	1,650	LF	\$8.35	\$13,777.50	\$13.00	\$21,450.00	\$10.64	\$17,556.00	\$9.51
71 STAMPED COLORED CONCRETE (5" THICK)	85	SY	\$80.00	\$6,800.00	\$75.00	\$6,375.00	\$10.04	\$442.85	\$10.66
72 PAVER BRICK	85	SY	\$75.00	\$6,375.00	\$70.00	\$5,950.00	\$4.93	\$419.05	\$53.40
73 REMOVE PAVER BRICK	85	SY	\$20.00	\$1,700.00	\$20.00	\$1,700.00	\$1.85		\$49.98
74 RESET PAVER BRICK	85	SY	\$35.00	\$2,975.00	\$25.00	\$2,125.00	\$1.34	\$157.25	\$13.95
75 TOP SOIL (6" THICK)	320	SY	\$7.50	\$2,400.00	\$6.50	\$2,080.00	\$1.54 \$5.60	\$113.90	\$20.45
76 SANDBLASTING - 1/2 DAY	20	EA	\$500.00	\$10,000.00	\$500.00	\$10,000.00	\$952.00	\$1,792.00	\$6.53
77 SANDBLASTING - FULL DAY	10	EA	\$1,000.00	\$10,000.00	\$1,000.00	\$10,000.00	\$952.00	\$19,040.00	\$650.67
TOTAL BASE BID	****	****		\$5,394,952.50		\$5,507,600.00	\$1,000.00 * ******	\$16,800.00	\$1,226.67 * *******
CONTINGENCY ITEMS				,-,, <u></u>		43,307,000.00		\$7,777,209.75	<u>ች</u>
78 EMERGENCY RESPONSE, LESS THAN 6 HOURS	A	-	10 700 00						
79 EMERGENCY RESPONSE, 6 HOURS TO 24 HOURS	4	EA	\$2,500.00	\$10,000.00	\$2,400.00	\$9,600.00	\$6,000.00	\$24,000.00	\$3,633.33
80 EMERGENCY RESPONSE, 24 HOURS TO 72 HOURS	8	EA	\$1,500.00	\$12,000.00	\$1,500.00	\$12,000.00	\$5,000.00	\$40,000.00	\$2,666.67
81 VEGETATION RELOCATION (INCLUDING WATERING)	12	EA	\$1,200.00	\$14,400.00	\$1,000.00	\$12,000.00	\$4,000.00	\$48,000.00	\$2,066.67
82 4" CONCRETE PATHWAY - LESS THAN 10 SY	10	HR	\$175.00	\$1,750.00	\$150.00	\$1,500.00	\$89.60	\$896.00	\$138.20
83 4" CONCRETE PATHWAY - 10 SY TO LESS THAN 50 SY	100	SY	\$225.00	\$22,500.00	\$200.00	\$20,000.00	\$65.52	\$6,552.00	\$163.51
84 6" CONCRETE PATHWAY (OR DRIVEWAY) - LESS THAN 8 SY	100	SY	\$150.00	\$15,000.00	\$150.00	\$15,000.00	\$65.52	\$6,552.00	\$121.84
UN DELVEWAT) - LESS THAN 8 SY	100	SY	\$235.00	\$23,500.00	\$225.00	\$22,500.00	\$123.20	\$12,320.00	\$194.40

*DENOTES CORRECTED FIGURE BIDS RECEIVED BY: MARK A. SINKHORN, P.E. BIDS RECORDED BY: JAYNE CANALE, TECHNICAL AIDE

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008

CONTRACT DAYS: 364 CALENDAR DAYS

CUNTRACT DAYS: 364 CALENDAR DAYS			CHARLES S. WH	HITESIDE, INC.	FLORIDA BLA	ACKTOP, INC.		CONCRETE &		
ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	AVERAGE	
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED						ANUUNI	UNIT PRICE	AMOUNT	UNIT PRICE	
85 6" CONCRETE PATHWAY (OR DRIVEWAY) - 8 SY TO LESS										
THAN 35 SY	100	SY	\$175.00	\$17,500.00	\$175.00	\$17,500.00	\$123.20	\$12,320.00	\$157.73	
86 PUMPING OR HAND PLACEMENT OF CONCRETE - 1/2 DAY	5	EA	\$900.00	\$4,500.00	\$850.00	\$4,250.00	\$1,680.00	\$8,400.00	\$1,143.33	
87 PUMPING OR HAND PLACEMENT OF CONCRETE - 1 DAY	5	EA	\$1,100.00	\$5,500.00	\$1,100.00	\$5,500.00	\$2,240.00	\$11,200.00	\$1,480.00	
88 PUMP MIX FOR CONCRETE PUMPING	10	CY	\$50.00	\$500.00	\$100.00	\$1,000.00	\$176.96	\$1,769.60	\$108.99	
89 CONCRETE TRAFFIC SEPARATOR TYPE I	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26	
90 CONCRETE TRAFFIC SEPARATOR TYPE II	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26	
91 CONCRETE TRAFFIC SEPARATOR TYPE III	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26	
92 CONCRETE TRAFFIC SEPARATOR TYPE V	100	SY	\$95.00	\$9,500.00	\$85.00	\$8,500.00	\$33.77	\$3,377.00	\$71.26	
93 CONCRETE CURB & GUTTER (9") (PBC STANDARD)	50	LF	\$35.00	\$1,750.00	\$35.00	\$1,750.00	\$11.57	\$578.50	\$27.19	
94 CONCRETE CURB & GUTTER (9") REMOVAL	50	LF	\$5.00	\$250.00	\$4.00	\$200.00	\$5.32	\$266.00	\$4.77	
95 CONCRETE FLUSH HEADER CURB (PBC STANDARD)	100	LF	\$35.00	\$3,500.00	\$35.00	\$3,500.00	\$11.20	\$1,120.00	\$27.07	
96 CONCRETE HEADER CURB REMOVAL	200	LF	\$10.00	\$2,000.00	\$4.00	\$800.00	\$5.32	\$1,064.00	\$6.44	
97 CONCRETE VALLEY GUTTER REMOVAL	100	LF	\$5.00	\$500.00	\$4.00	\$400.00	\$5.32	\$532.00	\$4.77	
98 CONCRETE MOUNTABLE GUTTER (PBC STANDARD)	100	LF	\$35.00	\$3,500.00	\$35.00	\$3,500.00	\$11.31	\$1,131.00	\$27.10	
99 CONCRETE MOUNTABLE GUTTER REMOVAL	100	LF	\$5.00	\$500.00	\$4.00	\$400.00	\$5.32	\$532.00	\$4.77	
MODIFY, REPAIR AND/OR REBUILD EXISTING								4002.00	** **//	
STRUCTURE: ITEMS 100-109	****	****	*****	******	******	*****	******	*****	******	
100 CURB INLET TYPE 1 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,200.00	\$8,400.00	\$8,960.00	\$17,920.00	\$7,553.33	
101 CURB INLET TYPE 2 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,200.00	\$8,400.00	\$8,960.00	\$17,920.00	\$7,553.33	
102 CURB INLET TYPE 3 (FDOT STANDARD)	2	EA	\$8,500.00	\$17,000.00	\$4,200.00	\$8,400.00	\$7,840.00	\$15,680.00	\$6,846.67	
103 CURB INLET TYPE 4 (FDOT STANDARD)	2	EA	\$8,700.00	\$17,400.00	\$4,200.00	\$8,400.00	\$7,840.00	\$15,680.00	\$6,913.33	
104 CURB INLET TYPE 5 (FDOT STANDARD)	2	EA	\$6,300.00	\$12,600.00	\$4,000.00	\$8,000.00	\$3,696.00	\$7,392.00	\$4,665.33	
105 CURB INLET TYPE 6 (FDOT STANDARD)	2	EA	\$6,500.00	\$13,000.00	\$4,000.00	\$8,000.00	\$3,920.00	\$7,840.00	\$4,806.67	
106 CURB INLET TYPE 7 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,000.00	\$8,000.00	\$7,616.00	\$15,232.00	\$7,038.67	
107 CURB INLET TYPE 8 (FDOT STANDARD)	2	EA	\$9,500.00	\$19,000.00	\$4,000.00	\$8,000.00	\$7,616.00	\$15,232.00	\$7,038.67	
108 ADJUST EXISTING MANHOLE OR INLET	10	EA	\$2,100.00	\$21,000.00	\$1,500.00	\$15,000.00	\$1,008.00	\$10,080.00	\$1,536.00	
109 MODIFY INLET & INSTALL RETICULINE FRAME & GRATE	10	EA	\$2,200.00	\$22,000.00	\$1,500.00	\$15,000.00	\$560.00	\$5,600.00	\$1,420.00	
REPLACE EXISTING OR CONSTRUCT NEW STRUCTURE: ITEMS 110-119								• • • • • • • • • • • • • • • • • • •		
그는 것 같은 것 같		****	*****	****	******	*****	******	*****	******	
110 CATCH BASIN TYPE C (FDOT STANDARD)	6	EA	\$5,200.00	\$31,200.00	\$4,200.00	\$25,200.00	\$2,240.00	\$13,440.00	\$3,880.00	

*DENOTES CORRECTED FIGURE

BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NUMBER: 2009053

BID OPENING DATE: JULY 29, 2008

CONTRACT DAYS: 364 CALENDAR DAYS

CONTRACT DATS: 364 CALENDAR DAYS					and the second second				
			CHARLES S. WH	HARLES S. WHITESIDE, INC. FLORIDA BLACKTOP, INC.		HOMESTEAD DRAINA			
	QTY	UNITS	UNIT PRICE	AMOUNT	LINIT DOTOD			an a	AVERAGE
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED	~ •••	01113	UNTI LUTE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE
111 CURB INLET TYPE 1 (FDOT STANDARD)	2	EA	\$10,000.00	\$20,000.00	45 500 00	¢11 000 00	+0.000.00		
112 CURB INLET TYPE 2 (FDOT STANDARD)	2	EA	\$10,000.00	\$20,000.00	\$5,500.00 \$5,000.00	\$11,000.00	\$8,960.00	\$17,920.00	\$8,153.33
113 CURB INLET TYPE 3 (FDOT STANDARD)		EA	\$6,000.00	\$12,000.00	\$5,500.00	\$10,000.00		\$17,920.00	\$7,986.67
114 CURB INLET TYPE 4 (FDOT STANDARD)	2	EA	\$6,000.00	\$12,000.00	\$5,500.00	\$11,000.00	\$7,840.00	\$15,680.00	\$6,446.67
115 CURB INLET TYPE 5 (FDOT STANDARD)	2	EA	\$5,800.00	\$11,600.00		\$11,000.00	\$7,840.00	\$15,680.00	\$6,446.67
116 CURB INLET TYPE 6 (FDOT STANDARD)	2	EA	\$5,600.00	\$11,200.00	\$5,500.00	\$11,000.00	\$3,696.00	\$7,392.00	\$4,998.67
117 CURB INLET TYPE 7 (FDOT STANDARD)	2	EA	\$10,000.00	\$20,000.00	\$5,000.00	\$10,000.00	그는 아이들은 것이 같은 것이 많이 많이 많이 많이 했다.	\$7,840.00	\$4,840.00
118 CURB INLET TYPE 8 (FDOT STANDARD)	2	EA	\$10,000.00		\$6,000.00	\$12,000.00	\$7,616.00	\$15,232.00	\$7,872.00
119 MANHOLE TYPE P	5	EA	\$6,500.00	\$20,000.00	\$6,000.00	\$12,000.00	\$7,616.00	\$15,232.00	\$7,872.00
120 30" RCP	80	LF	\$0,500.00	\$32,500.00	\$6,000.00	\$30,000.00		\$36,400.00	\$6,593.33
121 36" RCP	80	LF		\$8,000.00	\$90.00	\$7,200.00	\$76.16	\$6,092.80	\$88.72
122 42" RCP	40	LF	\$125.00	\$10,000.00	\$100.00	\$8,000.00	\$97.44	\$7,795.20	\$107.48
123 48" RCP	40	LF	\$150.00	\$6,000.00	\$140.00	\$5,600.00	\$123.20	\$4,928.00	\$137.73
124 15" CONCRETE MITERED END SECTION	2	EA	\$175.00	\$7,000.00	\$175.00	\$7,000.00	\$145.60	\$5,824.00	\$165.20
125 18" CONCRETE MITERED END SECTION	2		\$2,100.00	\$4,200.00	\$1,800.00	\$3,600.00	\$1,064.00	\$2,128.00	\$1,654.67
126 24" CONCRETE MITERED END SECTION	2	EA	\$2,500.00	\$5,000.00	\$1,800.00	\$3,600.00	\$1,176.00	\$2,352.00	\$1,825.33
127 30" CONCRETE MITERED END SECTION		EA	\$2,800.00	\$5,600.00	\$2,000.00	\$4,000.00	\$1,344.00	\$2,688.00	\$2,048.00
128 36" CONCRETE MITERED END SECTION	2	EA	\$3,500.00	\$7,000.00	\$2,500.00	\$5,000.00	\$3,024.00	\$6,048.00	\$3,008.00
129 42" CONCRETE MITERED END SECTION		EA	\$4,700.00	\$9,400.00	\$3,000.00	\$6,000.00	\$3,360.00	\$6,720.00	\$3,686.67
130 48" CONCRETE MITERED END SECTION	2	EA	\$5,500.00	\$11,000.00	\$3,500.00	\$7,000.00	\$8,064.00	\$16,128.00	\$5,688.00
131 30" BCCMP	2	EA	\$6,000.00	\$12,000.00	\$4,000.00	\$8,000.00	\$9,520.00	\$19,040.00	\$6,506.67
132 36" BCCMP	80	LF	\$100.00	\$8,000.00	\$90.00	\$7,200.00	\$76.16	\$6,092.80	\$88.72
133 42" BCCMP	80	LF	\$125.00	\$10,000.00	\$20.00	\$1,600.00 *	\$97.44	\$7,795.20	\$80.81
134 48" BCCMP	40	LF	\$150.00	\$6,000.00	\$140.00	\$5,600.00	\$123.20	\$4,928.00	\$137.73
135 15" BCCMP MITERED END SECTION	40	LF	\$175.00	\$7,000.00	\$160.00	\$6,400.00	\$145.60	\$5,824.00	\$160.20
136 18" BCCMP MITERED END SECTION	2	EA	\$1,850.00	\$3,700.00	\$1,800.00	\$3,600.00	\$812.00	\$1,624.00	\$1,487.33
137 24" BCCMP MITERED END SECTION	2	EA	\$2,200.00	\$4,400.00	\$1,800.00	\$3,600.00	\$980.00	\$1,960.00	\$1,660.00
139 20" RCCMD MITERED END SECTION	2 .	EA	\$2,500.00	\$5,000.00	\$2,000.00	\$4,000.00	\$1,176.00	\$2,352.00	\$1,892.00
138 30" BCCMP MITERED END SECTION	2	EA	\$3,000.00	\$6,000.00	\$2,500.00	\$5,000.00	\$2,240.00	\$4,480.00	\$2,580.00
139 36" BCCMP MITERED END SECTION	2	EA	\$4,100.00	\$8,200.00	\$3,000.00	\$6,000.00	\$2,464.00	\$4,928.00	\$3,188.00
140 42" BCCMP MITERED END SECTION	2	EA	\$5,300.00	\$10,600.00	\$3,500.00	\$7,000.00	\$5,600.00	\$11,200.00	\$4,800.00
141 48" BCCMP MITERED END SECTION	2	EA	\$5,600.00	\$11,200.00	\$4,000.00	\$8,000.00	\$6,048.00	\$12,096.00	\$5,216.00
								7-2/0000	401210100

*DENOTES CORRECTED FIGURE BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NAME: ANNUAL PATHWAY & MINOR CONSTRUCTION CONTRACT PROJECT NUMBER: 2009053 BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS

CONTRACT DATS, SOT CALENDAR DATS			CHARLES S. W	HITESIDE, INC.	FLORIDA BL	ACKTOP, INC.		D CONCRETE & AGE, INC.	
ITEM	QTY	UNITS	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT			AVERAGE
ALL ITEM PRICES COUNTYWIDE UNLESS INDICATED				APICONI	UNIT PRICE	AMOUNT	UNIT PRICE	AMOUNT	UNIT PRICE
142 SAND CEMENT ENDWALL	100	CY	\$650.00	\$65,000.00	\$650.00	\$65,000.00	* ^51 53		
143 MISC. CONCRETE (INCL. REINFORCING STEEL)	250	CY	\$600.00	\$150,000.00	\$700.00	\$175,000.00		\$5,152.00	\$450.51
144 FRENCH DRAIN (15" CMP)	80	LF	\$125.00	\$10,000.00	\$100.00	\$8,000.00	· · · · · · · · · · · · · · · · · · ·	\$44,800.00	\$493.07
145 FRENCH DRAIN (18" CMP)	80	LF	\$135.00	\$10,800.00	\$100.00		\$81.76	\$6,540.80	\$102.25
146 FRENCH DRAIN (24" CMP)	80	LF	\$150.00	\$12,000.00	\$150.00	\$9,200.00	\$86.24	\$6,899.20	\$112.08
147 RCP FRENCH DRAIN (15" RCP)	80	LF	\$125.00	\$10,000.00	(1) 11 (1) (1) (1) (1) (1) (1) (1) (1) (\$12,000.00	\$95.20	\$7,616.00	\$131.73
148 RCP FRENCH DRAIN (18" RCP)	80	LF	\$135.00	\$10,800.00	\$100.00	\$8,000.00	\$81.76	\$6,540.80	\$102.25
149 RCP FRENCH DRAIN (24" RCP)	80	LF	\$155.00	\$12,000.00	\$115.00	\$9,200.00	\$86.24	\$6,899.20	\$112.08
150 POLYDRAIN W/TOP & CONCRETE ENCASEMENT	50	LF	\$400.00	\$20,000.00	\$150.00	\$12,000.00	\$95.20	\$7,616.00	\$131.73
151 YARD DRAIN (INDEX 282)	5	EA	\$3,500.00		\$400.00	\$20,000.00	\$123.20	\$6,160.00	\$307.73
152 SPECIAL GUARDRAIL POST	10	EA	\$975.00	\$17,500.00	\$2,500.00	\$12,500.00	\$840.00	\$4,200.00	\$2,280.00
153 ALUMINUM PIPE HANDRAIL (3 RAIL)	150	LA	\$575.00	\$9,750.00	\$900.00	\$9,000.00	\$224.00	\$2,240.00	\$699.67
154 SAFETY PIPE RAIL (2")	125	LF	\$30.00	\$9,000.00	\$70.00	\$10,500.00	\$162.40	\$24,360.00	\$97.47
155 RELOCATE FIRE HYDRANT	12.5	EA		\$3,750.00	\$60.00	\$7,500.00	\$162.40	\$20,300.00	\$84.13
156 PULL BOXES (BROOKS)	2	EA	\$6,500.00	\$6,500.00	\$5,000.00	\$5,000.00	\$2,240.00	\$2,240.00	\$4,580.00
157 CONCRETE BARRIER WALL	100	LA	\$950.00	\$1,900.00	\$900.00	\$1,800.00	\$196.00	\$392.00	\$682.00
158 JACK & BORE IRRIGATION LINES	100	LF	\$65.00	\$6,500.00	\$140.00	\$14,000.00	\$184.80	\$18,480.00	\$129.93
159 INSTALL IRRIGATION LINES (COMPLETE)	200	LF	\$125.00	\$12,500.00	\$130.00	\$13,000.00	\$28.00	\$2,800.00	\$94.33
160 PROVIDE HOOKUP FOR IRRIGATION SYSTEM	200	EA	\$30.00	\$6,000.00	\$35.00	\$7,000.00	\$2.78	\$556.00	\$22.59
161 REPLACE SPRINKLER SYSTEM (COMPLETE)			\$1,500.00	\$7,500.00	\$1,500.00	\$7,500.00	\$616.00	\$3,080.00	\$1,205.33
162 RUBBLE RIP-RAP	1,500	LF	\$30.00	\$45,000.00	\$30.00	\$45,000.00	\$3.92	\$5,880.00	\$21.31
163 TEMPORARY OR PERMANENT SHEET PILING	50	TN	\$375.00	\$18,750.00	\$100.00	\$5,000.00	\$84.00	\$4,200.00	\$186.33
164 SOUTHERN YELLOW PINE LUMBER	1,000	SF	\$45.00	\$45,000.00	\$75.00	\$75,000.00	\$280.00	\$280,000.00	\$133.33
165 40 TON CRANE, CRAWLER OR WHEEL MOUNT - DAY	1,000	BF	\$10.00	\$10,000.00	\$100.00	\$100,000.00	\$0.57	\$570.00	\$36.86
166 3 CY LOADER - DAY	10	EA	\$2,300.00	\$23,000.00	\$100.00	\$1,000.00	\$806.40	\$8,064.00	\$1,068.80
167 1-1/2 CY BACKHOE - DAY	10	EA	\$1,100.00	\$11,000.00	\$600.00	\$6,000.00	\$448.00	\$4,480.00	\$716.00
PAVEMENT TEXTURING: ITEMS 168-172	10 *****	EA	\$1,600.00	\$16,000.00	\$750.00	\$7,500.00	\$224.00	\$2,240.00	\$858.00
168 IMPRINT NEW INSTALLATION		****	*****	******	******	*****	******	******	******
169 HEAT & IMPRINT EXISTING PAVEMENT	1,500	SY	\$65.00	\$97,500.00	\$65.00	\$97,500.00	\$8.96	\$13,440.00	\$46.32
170 COLORED COATING - STANDARD FORMULA	1,200	SY	\$65.00	\$78,000.00	\$70.00	\$84,000.00	\$13.44	\$16,128.00	\$49.48
171 COLORED COATING - STANDARD FORMULA 171 COLORED COATING - TRAFFIC FORMULA	2,700	SY	\$35.00	\$94,500.00	\$35.00	\$94,500.00	\$13.44	\$36,288.00	\$27.81
TAT COLORED COATING - TRAFFIC FORMULA	2,700	SY	\$45.00	\$121,500.00	\$45.00	\$121,500.00	\$13.44	\$36,288.00	\$34.48
[14] · · · · · · · · · · · · · · · · · · ·									- <u>*</u> * * * * * * *

*DENOTES CORRECTED FIGURE BIDS RECEIVED BY: MARK A. SINKHORN, P.E.

PROJECT NAME: ANNUAL PATHWAY & MINOR CONSTRUCTION CONTRACT PROJECT NUMBER: 2009053 BID OPENING DATE: JULY 29, 2008 CONTRACT DAYS: 364 CALENDAR DAYS

		CHARLES S.	WHITESIDE, INC.	FLORIDA BLACKTOP, INC	C. HOMESTEAD CONCRETE & DRAINAGE, INC.	
ALL ITEM PRICES CO	ITEM DUNTYWIDE UNLESS INDICATED	QTY UNITS UNIT PRICE	E AMOUNT	UNIT PRICE AMOUNT	UNIT PRICE AMOUNT	AVERAGE UNIT PRICE
172 SEALER CONCRETE	TOTAL CONTINGENCY ITEMS	2,700 SY \$20.0	00 \$54,000.00 \$1,707,700.00	\$15.00 \$40,500. (******* \$1,610,900. (\$13.35 * ******

*DENOTES CORRECTED FIGURE BIDS RECEIVED BY: MARK A. SINKHORN, P.E. BIDS RECORDED BY: JAYNE CANALE, TECHNICAL AIDE